
Simplifying Algebraic Expressions with Exponents:

How can we simplify algebraic expressions with exponents? That is, something like

One approach* would be to break the problem into the following steps:

*If you already have an approach that works for you, that’s great! Remember that there’s almost 

always more than one right way to approach a math problem. 

8a଺bିସc଼

32aିସbହcଽ

1. Break the expression into separate fractions, one containing only numbers, and 
one for each variable:
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2. Reduce the fraction containing only numbers:
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For each fraction containing a variable:
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3. Move all terms in the numerator (denominator) with negative exponents to the 
denominator (numerator), and make the exponent positive. Leave a “1” if moving 
all the terms:

4. Multiply all terms in the numerator, and all terms in the denominator:
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4. Divide the numerator by the denominator:
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5. If the exponent is negative, then move the term and make it positive:

6. Combine all the simplified fractions into one:
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And the result is: aଵ଴

4bଽc
8a଺bିସc଼

32aିସbହcଽ
ൌ

Exercises:
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Simplify the following expressions:

1. 3଼ܾܽି଺ 2. 5ܽି଻ܾସ 3. 
௥షర

ଷ௦ఱ
4. 
௬షఱ

௫షయ
5. 
௬ర௭షయ

௫షమ

6. 
ଶସ௔ఱ௕ల

ି଼௔ర௕య
7. 

ି଺௫షమ௬ర௭ఴ

ଶସ௫షఱ௬ల௭షయ
8. 
ିସ௫ర௬షమ

ହ௫షభ௬ర
9. 
ሺଷ௫య௬రሻయ

଺௫௬య 10. (
ସ௔య௕షవ

଺௔షమ௕ఱ
)
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Answers:1. 
ଷ௔ఴ

௕ల2. 
ହ௕ర

௔ళ3. 
ଵ

௥ర௦ఱ
4. 

௫య

௬ఱ5. 
௫మ௬ర

௭య6. െ3ܾܽଷ7. ି௫య௭భభ
ସ௬మ8. 

ିସ௫ఱ

ହ௬ల9. 
ଽ௫ఴ௬వ

ଶ10. 1


